[4. Session : Matrices and l/ectors
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Def.: let A and B8 be mxmn-matrices and let c be
o scalar: Then A+R y A-B and ¢ A are the

Mxn-matrices with €wvtries as Ftollows
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¥ “Scalar’ meauns real nwimber
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Theorenm; Let A,B,C be mxn-nmatrices and Llet
S,t be scalars. Then

(1) A+R= B+A 2) A+BY+C = A+ (B+()
@3y A+0=A #) A-A=0
5)  GBHOA = s(EA) )y s(A+BY=sA+sB

(P G+E)A = sA +tA.

Proot o4 (1) Both scdec are mxun- matrices , aud

Def.: let A be an mxn-matrix. The Transpose of
/

A is the hxm-—matrix AT with

[AT]ij - [/A\]J“L
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Note : The colummns o4 AT are the rows of A and

yice Vverseo.
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Theorewr : Let A and B be mxu- matrices , and  let

s be o scalar. Then
() (A+BY = AT+ 8

() GAY = s (AT
@) (AT = A,

row Vector _

,DG'L An I XN = matrix s called o

An Mx|- matrix 5 called a columu vector
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called *the coetticlents or wez‘gh‘ts ot the Llinear

combluation .,
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These scalars are
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